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N2 3 HA 1,122,000 1,101,000 21,000
FEF IR BN 5 3 H 1, 036, 000 1,017,000 19, 000
Fifs IREIiR B A 53 HY 1, 036, 000 1,017,000 19, 000
FAEL 912, 000 904, 000 8, 000
REEA 2 10, 000 9,000 1,000
Tk 24 = H 60, 000 60, 000
HEFYE XM 54,000 44,000 10, 000
1L TEAE R S HY 86, 000 84, 000 2,000
s PRIRE S HY 81, 000 79, 000 2,000
TR S HY 5,000 5,000
HEE X 1, 680, 000 1, 685, 000 A5, 000
ik g S 5,000 10, 000 A5, 000
i 3 H 5,000 10, 000 A5,000
WHEWFZEE: 3 128, 000 128, 000
i 3 H 88, 000 88, 000
WHEE S 40, 000 40, 000
HEFEALE 160, 000 160, 000
5 E R S HY 29, 000 29, 000
BERF S H 23,000 23,000
T RhE 3 HY 6, 000 6, 000
DR 78, 000 78, 000
EETERE XM 78, 000 78, 000
S E 20, 000 20, 000
TR 819, 000 819, 000
FHB 3,000 3,000
PRIGAEZ H 90, 000 90, 000
GRS 140, 000 140, 000
MESZ 208, 000 208, 000
Bhpk4 >t 520, 000 520, 000
Bhpk4 >t 520, 000 520, 000
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FRNTRT 747 HiAE e Bl 4 3 H 250, 000 250, 000
AR T T AT IREN Y R F B A S 270, 000 270, 000
FEIRH I HEQ) 3,322,000 3,306, 000 16, 000
FEIRENE S ZFR)=(1)-(2) A3, 322,000] A3, 306,000 A16, 000
it 5% HE i S I AGH(4)
it 5% 2 i 5 37 A HGB)
it 5 R s 2 4 I 32 72 %5(6)=(4)-(5)
H—E R X5 [ AU A 3,322,000 3, 306, 000 16, 000
BN FERASIA 3,322,000 3,306, 000 16, 000
Z DM OTHFBEINAFGHT) 3,322,000 3,306, 000 16, 000
ZOoOTEB S HEHS)
ZOMOIHEYE SIS ZEER(9)=(7)-(8) 3,322,000 3,306, 000 16, 000
T 2% 3 (10)
4 @IS RS R HD=(3)+(6)+(9)-(10)
AR LG A5 (12)
LIRS ik (11)+(12)




